VCE & PDF https://www.pass4itsure.com/1z0-1072-21.html
g 2024 Latest passditsure 120-1072-21 PDF and VCE dumps Download

PassditSure.com

170-1072-219%As

Oracle Cloud Infrastructure 2021 Architect Associate

Pass Oracle 1Z0-1072-21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/1z0-1072-21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 170-1072-21 Dumps | 120-1072-21 VCE Dumps | 1Z0-1072-21 Study Guide 1/4


https://www.pass4itsure.com/1z0-1072-21.html
https://www.pass4itsure.com/1z0-1072-21.html
https://www.pass4itsure.com/1z0-1072-21.html

VCE & PDF https://www.pass4itsure.com/1z0-1072-21.html
a 2024 Latest passditsure 120-1072-21 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which option lists Virtual Cloud Networks (VCNs) that can be peered?
A. VCN A (172.16.0.0/24) and VCN B (172.16.0.0/28)

B. VCN A (10.0.0.0/16) and VCN B (10.1.0.0/16)

C. VCN A (10.0.2.0/16) and VCN B (10.0.2.0/25)

D. VCN A (10.0.0.0/16) and VCN B (10.0.16.0/24)

Correct Answer: B

QUESTION 2

Which two choices are true for Autonomous Data Warehouse (ADW)? (Choose two.)

A. Billing stops only when the ADW is terminated

B. Billing stops for both CPU usage and storage usage when ADW is stopped

C. Billing for compute stops when ADW is stopped

D. Billing for storage continues when ADW is stopped

Correct Answer: CD

When Autonomous Databas instance is stopped, CPU billing is halted based on full-hour cycles of usage Billing for

storage continues as long as the service instance exists. and When Autonomous Database instance is started, the CPU
billing is initiated

QUESTION 3

You have hired a new employee to run reports from the Autonomous Data Warehouse (ADW) and are not
confident in their SQL writing ability.

Into which consumer group will you assign this individual to minimize the impact of their code?

A. Lowest

B. Medium

C. Highest

D. High

E. Low

Correct Answer: E
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in ADW, The tnsnames.ora file provided with the credentials zip file contains three database service names identifiable
as high, medium, and low. The predefined service names provide different levels of performance and concurrency for
Autonomous Data Warehouse. high: The High database service provides the highest level of resources to each SQL
statement resulting in the highest performance, but supports the fewest number of concurrent SQL statements. Any
SQL statement in this service can use all the CPU and 10 resources in your database. The number of concurrent SQL
statements that can be run in this service is 3, this number is independent of the number of OCPUs in your database.
medium: The Medium database service provides a lower level of resources to each SQL statement potentially resulting
a lower level of performance, but supports more concurrent SQL statements. Any SQL statement in this service can use
multiple CPU and 10 resources in your database. The number of concurrent SQL statements that can be run in this
service depends on the number of OCPUs in your database. low: The Low database service provides the least level of
resources to each SQL statement, but supports the most number of concurrent SQL statements. Any SQL statement in
this service can use a single CPU and multiple 10 resources in your database. The number of concurrent SQL
statements that can be run in this service can be up to 300 times the number of OCPUs. The predefined service names
provide different levels of performance and concurrency for Autonomous DB Choose whichever database service offers
the best balance of performance and concurrency. Use the low database service name. to minimize the impact of their
SQLs to by low consumer group

QUESTION 4

You have deployed a compute instance (VM.Standard2.24) to run an Oracle database. With this set up, you run into
some performance issues and want to leverage an OCI Dense 10 shape (VM.DenselO2.24), with which you get 25.6 TB
local NVMe SSD. You do not want to lose the configuration changes you made to the instance. Which of the following
TWO steps ARE NOT required to make this transition?

A. Terminate the VM.Standard2.24 instance and do not preserve the boot volume

B. Create a new instance using the VM.Dense102.24 shape using the preserved boot volume and move the Oracle
Database data to NVMe disks

C. Terminate the VM.Standard2.24 instance and preserve the boot volume

D. Create a new instance using a VM.DenselO2.24 shape using the preserved boot volume and move the Oracle
Database data to block volumes

Correct Answer: AD

You can permanently terminate (delete) instances that you no longer need. Any attached VNICs and volumes are
automatically detached when the instance terminates. Eventually, the instance\\'s public and private IP addresses are
released and become available for other instances. By default, the instance\\'s boot volume is deleted when you
terminate the instance, however you can preserve the boot volume associated with the instance, so that you can attach
it to a different instance as a data volume, or use it to launch a new instance. Dense /O Shapes Designed for large
databases, big data workloads, and applications that require high-performance local storage. DenselO shapes include
locally-attached NVMe-based SSDs. so once you create the VM.DenselO you need to moce the Database to locally-
attached NVMe-based SSDs

QUESTION 5
You are running your warehouse using Autonomous Data Warehouse (ADW) service and you noticed that a newly

configured batch job is always running in serial even through nothing else is running in the database. All your jobs are
configured to run with parallelism enabled. What could be the reason for this batch job to run in serial?
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A. The batch job depends on only one table and parallelism cannot be enabled on single-table queries.
B. The parallelism of batch job depends on the number of ADW databases involved in the query.

C. The new batch job is connected to LOW consumer group.

D. The new batch job runs on database tables that are not enable for parallel execution.

E. Parallelism on the database is controlled by the application, not the database.

Correct Answer: C
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